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1. Find the sum of the following :

~]

n . G
@) 713 and 33
Simplify :

' L+[ 5
B i e

Subtract :

o ) —5
(1) = from 3
Simplify :

-1
(0 489 <16

Find the reciprocal of :

. EXE
0 7*3

Divide :
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@ 2by 4
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B ly s

(i) — from —

022

(if)

RS 12
(i1) 2 by 10

oroe =g
(iif) 0 and 9

(iif) ; - [_?3}

-4 -3
— from —

L 10

9 125
(@) 5 72
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What number should be multiplied by % to get :72?

(iv) _—g from 0

-16
The product of two rational numbers is 8. If one of the numbers is —%  find the other.

-8
By what number EE}

should be divided to get

16
3?




